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7898:8 ;< =>= ? @A@BCDEF G D@B
X = [47, 43, 41, 32, 34, 37, 29, 26, 22, 18]

Y = [54, 42, 29, 19, 59, 24, 64, 36, 12, 47]

τ2 H I

7898:8 ;< =J = ? KL KBCD MN KO@B
X = [47, 43, 40, 29, 33, 31, 36, 26, 22, 19]

Y = [23, 47, 44, 18, 58, 64, 37, 10, 53, 29]

τ2 H I
7898:8 ;< =P = Q CBE RL@SL KB
X = [45, 44, 29, 37, 33, 31, 39, 25, 21, 19]

Y = [52, 24, 43, 36, 30, 64, 47, 12, 58, 17]

τ2 H I

7898:8 ;< =; = T@U @VWEB R@L KX EY
X = [47, 43, 31, 37, 35, 40, 28, 25, 22, 18]

Y = [24, 54, 16, 35, 58, 63, 48, 13, 43, 29]

τ2 H I
7898:8 ;< =< = Z C[C\CX CD ]L KW[KY
X = [45, 42, 40, 27, 34, 31, 37, 25, 23, 20]

Y = [54, 13, 57, 36, 16, 49, 62, 44, 28, 23]

τ2 H I

7898:8 ;< =^ = _ @L`V KD GLab
X = [46, 42, 40, 30, 35, 37, 27, 24, 22, 20]

Y = [52, 12, 43, 49, 36, 58, 18, 29, 62, 23]

τ2 H I
7898:8 ;< =c= _ CX SEB ]BNCB
X = [47, 42, 40, 28, 35, 32, 37, 25, 23, 19]

Y = [24, 42, 63, 12, 17, 57, 37, 49, 28, 54]

τ2 H I

7898:8 ;< =d = e C[KBWC ]L KW[KY
X = [46, 43, 40, 28, 34, 31, 37, 25, 23, 19]

Y = [57, 37, 64, 53, 48, 19, 29, 12, 25, 43]

τ2 H I
7898:8 ;< =f = g hX iL j@@N@X kFAhh
X = [45, 43, 27, 38, 34, 31, 40, 25, 22, 18]

Y = [54, 31, 43, 34, 62, 18, 48, 13, 22, 57]

τ2 H I

7898:8 ;< =>l = mKYA@BCD noSDE\
X = [46, 44, 32, 38, 35, 41, 29, 25, 22, 20]

Y = [59, 24, 12, 43, 53, 30, 64, 38, 49, 16]

τ2 H I
7898:8 ;< =>>= MNX hFWCD pX EY
X = [45, 43, 32, 37, 34, 40, 29, 26, 23, 20]

Y = [54, 17, 11, 23, 63, 49, 34, 59, 31, 43]

τ2 H I

7898:8 ;< =>J = qF@KD mCU @B
X = [46, 43, 27, 36, 33, 31, 40, 24, 21, 18]

Y = [57, 29, 23, 62, 52, 43, 47, 17, 11, 38]

τ2 H I
rstuvtwx y z{ z |u}~�~����~ } v���x�� �w�w� �~ ��~v�� ��v~��x~���� � tw��tw������}~� ��w�����}� z � z����� z � z ��� z



7898:8 ;< =>P = � K[N@WCD R EWNCX
X = [45, 42, 39, 28, 34, 30, 37, 25, 22, 19]

Y = [52, 23, 42, 12, 58, 49, 62, 29, 34, 17]

τ2 H I

7898:8 ;< =>; = � @ACU CD R � ] �
X = [45, 43, 30, 36, 34, 41, 28, 26, 22, 19]

Y = [53, 44, 31, 23, 62, 48, 12, 36, 59, 18]

τ2 H I
7898:8 ;< =>< = Q @\EbBCD k�
X = [45, 44, 31, 37, 35, 41, 28, 26, 22, 18]

Y = [16, 63, 54, 24, 59, 48, 43, 14, 35, 30]

τ2 H I

7898:8 ;< =>^ = �X �hBCD G �] �
X = [46, 43, 41, 32, 34, 37, 29, 26, 23, 19]

Y = [59, 16, 29, 64, 48, 25, 42, 12, 54, 37]

τ2 H I
7898:8 ;< =>c= � �� ����
X = [46, 43, 40, 28, 34, 30, 37, 26, 23, 20]

Y = [11, 49, 58, 37, 25, 53, 63, 28, 43, 18]

τ2 H I

7898:8 ;< =>d = ]XU @BSh ��
X = [47, 43, 39, 27, 34, 30, 37, 25, 22, 19]

Y = [63, 48, 44, 11, 57, 21, 35, 53, 30, 19]

τ2 H I
7898:8 ;< =>f = MhBa  �b [o@Ba
X = [47, 44, 31, 38, 34, 40, 27, 24, 21, 18]

Y = [48, 53, 23, 63, 58, 36, 18, 12, 29, 42]

τ2 H I


